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47 x 23
3 X2
911251 = x22, p18
911255 = x23, P19
1844371 = xa7, v22
3x2
3688741 = x37, P29
12910591 = x51, ¥32
20047501 = x57, ¥33
20958751 = X60, P34




Block 1: | o1 w2 w3 w1 ¥5 Y6 P71 Ps P9 Y0 P11 P12 P13 P14
11 = X1 1 .
231 = X2 1 .
2531 = x3 1.
2751 = X4 1 .
17711 = X5 . . 1
22771 = xr 1 |
70841 = X9 . 1 .
96251 = X10 1 1 .
96252 = X11 1 1 .
103951 = X12 1
103952 = X13 . . . . 1
126507 = x14 | 1 1 1 1 . . 1
230001 = X15 . 1 2 1 1 1
316251 = X16 . 1 . . . . .
316255 = x17 | 1 1 2 1 1 1 .
318781 = X18 1 . . . . 1 1
442751 = x20 1 1 1 1 1 . 1
632501 = X21 . . 1 . 1
1138501 = X24 1 1 . 1
1771001 = x26 1 1 . . 1 1 1 1 1
2125207 = x28 1 .2 01 1 1 . . . 1
2213751 = x29 1 . .12 1 . 1 1 1
2266881 = X30 1 1 1 2 1 1 . . 2 1
2390851 = X31 1 1 1
2390852 = X32 . 1 . . 1 1 .
2530001 = X34 1 1 . . 2 . 1 .
2846251 = x35 1 2 2 1 .2 2 . 2
3984751 = X38 1 1 . . . 1 1 1 1 . 1
3984752 = X39 1 . 2 3 3 1 . . 2 1 .
4427501 = xa1 1 1 1 1 1 1 1 1 . 1
4620001 = Y42 L2 T2 .
6375601 = x45 2 . 1 3 3 1 1 . . 2 1 1 .
664125, = ya6 | 1 2 .. 01 1 12 1
6641255 = Y47 1 1 1 2 2 . 2 1 1 1 . .
6641253 = x48 1 2 2 1 1 1 1 1 . 1
8538751 = X49 1 2 1 . . . 2 1 1
12880001 = X50 1 2 1 1 1 1




(BlOCk 13) Y15 P17 P20 P21 P23 P24 P25 P28 P31

11 =x1
231 = X2
2531 = X3
2751 = X4
1771, = X5
20241 = X6
22771 = X7
40251 = X8
70841 = X9
96251 = x10
96252 = x11
103951 = X12
103952 = X13
126501 = X14
230001 = X15 .
316251 = X16 1
316252 = X17
318781 = X18
442751 = X20 .
632501 = X21 1 .
1138507 = yau | . 1

1295361 = x25 1 1
1771001 = x26 1 1 )
2125207 = Yos . |

2213751 = X29 . . . 1

226688 =30 | . . . 1 .

2390851 = X31 . . . . 1

2390852 = X32 . . . . 1 . 1
2530001 = X34 . . . . . .

3984751 = X38 . . . . . . .
3984752 = X39 . . 1 1 . 1

4427501 = Y01 . | . .

6375601 = X45 . . 1 1 . .

664125, = x46 2 1 . . 1 1 1
6641252 = xa7 . . 1 . 1 .

6641253 = x48 1 . 1 1 . 1 . . 1
8538751 = X49 . . . 2 . . . .

1.1
1288000, = x50 | 1 1 . . 2 .



(Block 1:) | o1 w2 03 w1 w5 Y6 P71 P8 P9 Y0 P11 P12 P13 P4
17710007 = x52 | 1 o201 2 .3 3 1 1 2
17710005 = Y53 1 o2 .1 1 1 1 2 .
18350081 = Xx54 .12 1 1 3 1 2 2 2 2 2 1
1943040, =xs5 | 1 2 2 1 2 4 1 2 1 1 4 3 1 1
1992375, = ys6 1 1 2 . 3 1 1 2 2 .
20401921 = xs53 .2 2 1 1 4 1 3 3 3 2 1 2
2072576, = ys0 | 1 1 1 2 1 2 2 2 2 1

(BlOCk 13) P15 P17 P20 P21 P23 P24 P25 P28 P31
17710001 = X352 1 1 . 2 1 . 1 1
17710002 = x53 1 1 1 2 1 1 1
18350081 = X54 1 1 1 2 1 1 1
19430401 = X35 2 1 1 2 1 1 1 1
19923751 = Y56 . 1 1 2 1 2 1
20401921 = x5s 1 2 1 2 1 1 . 1
20725761 = X59 1 1 1 2 1 1 1 1

o1 = 1L _

— 93 Y13 = 157081
[ o1 = 21483,
w3 = 25631

Y15 = 313721
Yoy} = 2751

Y17 = 877691
Y5 = 17491

o0 = 166474;
e = 17711

Y21 = 1773321
w7 = 2254,

Y23 = 2200881
ps = 70844

oy = 221628,
Y9 = 93721

Y25 = 2266881
P10 = 9372

Y28 = 3405161
P = 10372 = 446545
P12 = 10395 Par = !

Block 2: $Y16 P30
37422, = x10 | 1 . P16 = 37422
430353, = x40 | . 1 pso = 430353
4677751 = X43 1 1




Block 6:

2459161 = X33
3129841 = X36
5589007 = Y44

Y26 P27
1 Y26 = 2459161
i por = 312984,

1 1




